AFL - KR

flitgeRMEDRSE

— @ SRS SN S LTI IF 3R ERFAEZRFTS.
* B2 | SRAEORMECIDFHREREE R (RC— 1 49960m) 31881= (R B35 (i, B, 1)
£ E N E HR—REY(RC—1 $9110m) $FTEHICHRIBMME (BEX. #H. &)
x = SHKERIEREBE (RC—1 #9110m) HRI<R RN (H. BK. &
A AL T R —RESEAL sy
A #. B |SF5%F10813H B 1T & A |EHZE=RT B 1T i B |SF5510H25H ~ §fM753A15H
it E1EALL % BEIAFL
£ = 2 . N . %
(BB RLBH BNES SR Aem  |mwmms| wme | Adea  |@sEms| Sme fi
(M- Fitk) B) (A+B) (M- Fitk) (B) (A+B)
FibEmERET (BR) 2420001006761 35.905 21,900,000 4874 40.779 %L
(%) T—>—I%E 5100001000364 - i) — —
e AR ERET (B
ZHEEL - — -
E BEHRENFMAFTHRFTE/FE10—-16
£ I ¥ 24,090,000 (FA) (¥ 21,900,000 (Fitk))
F E E K ¥ 26,219,946 (F73A) (¥ 23,836,315 (Fith))
FOEOE £ M ]| ¥20690,160 (FiA) (¥ 18,809,237 (Fitk))
1:1




2HE = D AER

EFBDA: ZIRKE (S)HME(0417) FHEaskirmsnst

HATEHi s OWER
e CEOEMERY | PEHMEOR EBOXIE7 8 - T S 5 O 18
(A5 RFBFHH) EROIH e iamn | ot |=Ezo—T| mrests | SUERRCT | g s
ﬁgjj Eﬁ&uﬁgﬁ E'i'@'%d)ﬁﬂ IIE\\DE+
a b c d e f=(a+b+c+d)*e 60x(f/g)
H s DB = 55.00 60.00 5.00 7.00 1.00 12700 g 60.00
SR EERET (BR) 35.00 39.00 2.00 0.00 1.00 76.00 35.905

(Bp) T—> —TEBEt 16.00 20.00 2.00 0.00 - - -




